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FEFR~T K [mm X mm] 0.3 x 10
W £ [mm 2] 2.25 2%
BE Xx 10 [Kg/mm] 17.59+2%
B oR Rk x 10 S[Kg/mm] 14.0
YU GEMERE) x 104 [N/mm?] 18.23
(BIRET x 10 *[/N] 0.0244
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,n?;ﬁ%fi(mmgoc Go o inel tsdl o SR DRI (B (nm) || 1= % FH#HIE {E (mm)
e\ 50°C[ 45°C] 40°C| 35°C] 30°C| 25°C 50N [TOON[T50N[200N|| 50N 100N 150N 200N
bm| -2.1| -1.8 -1.4 -1.1] -0.7] -0.4 0.0/ — | 0.0 0.6[ 1.2/ — 0.0 0.0 0.0
10m| 4.2 3.5 -2.8 -2.1] -1.4 0.7 00| —| 0.0 1.2 2.4 — -0.1 -0.1 0.0
15m| -6.3] -5.3] 4.2 -3.2] -2.1] -1.1] 0.0/ —| 0.0 1.8 3.7/ — -0.4 -0.2 -0.1
20m| -8.4 -7.0 -5.6] -4.2| -2.8] -1.4 0.0 — [ 0.0 2.4 49| — -1.0 -0.4 -0.2
25m| -10.5 -8.8] -7.0 -56.3] -3.5 -1.8 0.0ff — [ 0.0 3.1] 6.1 — -1.9 -0.9 -0.5
30m| -12.6{-10.5| -8.4 -6.3] 4.2 -2.1] 0.0f — [ 0.0 3.7 7.3| — -3.3 -1.5 -0.8
35m| -14.7{-12.3| -9.8] -7.4 -4.9] -2.5| 0.0f — [ 0.0 4.3 8.5/ — -5.3 -2.4 -1.3
40m| -16.8] -14.0{ -11.2| -8.4 5.6/ -2.8] 0.0]] — ] 0.0 4.9 9.8| — -1.9 -3. 5 -2.0
45m| -18.9] -15.8{ -12.6] -9.5 -6.3] -3.2] 0.0l — | 0.0 5.511.0/| — -11.3 -5.0 -2.8
50m| -21.0{ -17.5/ -14.0] -10.5] -7.0[ -3.5| 0.0f — [ 0.0 6.1]12.2|]] — -15.5 —6.9 -3.9
55m| -23.1{ -19. 3| -15.4| -11.6] -7.7[ -8.9] 0.0f — [ 0.0] 6.7]13.4|| — -20.6 -9.2 -5.2
60m| -25.2| -21.0| -16.8| -12.6] -8.4] -4.2 0.0[ — [ 0.0 7.3[14.6|]] — -26.8 -11.9 —6.17
65m| -27.3{-22.8/ -18.2| -13.7| -9.1] -4.6] 0.0f — [ 0.0 7.9[15.9]| — -34.0 -15.1 -8.5
70m| -29.4[-24.5| -19.6/ -14.7[ -9.8] -4.9] 0.0f — [ 0.0 8 5[17.1 — -42.5| -18.9] -10.6
75m| -31.5[ -26.3| -21.0{ -15. 8| -10.5| -6.3] 0.0f| — | 0.0[ 9.2[18.3[ — -52.3] -23.2] -13.1
80m| -33.6{ -28.0] -22.4| -16.8{ -11.2[ -5.6] 0.0[ — [ 0.0 9.8/19.5]| — —-63.5| -28.2] -15.9
85m| -35.7{-29.8| -23.8/ -17.9] -11.9[ 6.0 0.0[[ — [ 0.0[10.4]{20.7|]| — -76.1] -33.8 -19.0
90m| -37.8{ -31.5[ -25.2| -18.9| -12.6] -6.3] 0.0[ — [ 0.0[11.0[22.0]] — -90.4] -40.2| -22.6
95m| -39. 9| -33. 3| -26.6/ -20.0{ -13.3] -6.7] 0.0f — | 0.0[11.6]23.2|]| — -106.3| -47.2] -26.6
100m| -42.0]{ -35.0] -28.0] -21.0/ -14.0] -7.0] 0.0 0.0]12.2[24. 4 -124.0f -55.1] -31.0
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